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Show your work in detail and write neatly and eligibly

The following data are taken for times (minutes) needed to execute some job.
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if the researcher thinks that the average times needed does not reach 4 seconds,
a. Write the suitable hypotheses for testing the researcher thought.
Note that; n=15, (x = 44.4, (x2 = 158.86 and s = 1.4
H0 : ( ( 4
vs.
H1 : ( < 4
b. Set the necessary assumptions needed to perform the test in part (a).
1. The sample is small.
2. Population should be assumed to be normal.
3. ( is Unknown.
c. After testing the hypotheses in part (a) using the formal approach, give your decision and your conclusion.
Assume  ( = 0.05,
df = n-1 = 14
t(;df = t0.05;14 = 1.761
Decision Rule: Reject H0 if t0<-t( = -1.761
t0 = (sample mean - (0)/(s/(n) = (2.96-4)/(1.4/(15) = -2.88.
( -2.88 < -1.761 ( Reject H0 ( 

The data provide sufficient evidence to conclude that mean time does not reach 4 seconds.
d. Calculate the p-value and use it in testing for part (a).
p-value = Pr[t < t0] = Pr[t < -2.88] = p.
But  0.005 < p < 0.01 (
p-value < ( ( Reject H0.
e. Use the CI technique (if possible!) to test the hypotheses in part (a). Justify your answer.
CI can not be used in testing H0 because H1 is one-tailed (left-tailed).
With My Best Wishes
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